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Q| -2x1, h. & ( Q: | I Which of these decjmals Is the allest In value?
What shoulq come In the blanlﬁ to make the pbove number sentence true? E¥ 3ten ths :r‘ 7 hundred ths
* ] z H 3 thousarid ths 2 hundredths and | thousand ths
7 T3 ™ ths F ths|
2,Q r3t42+2)= , b B ER ET R 2 e
H 41 ﬁ 4 & 41 a5 1072 H|10.27 B 10.207 23 [10.702
B, Q_ The sum of two numbers|is 4 %{One qfthen* Is 2 7. | Which of these Is the other number? o, Q: -5 68
.80 = =—e
14 24 53 | .| B3 o |
6— Whatiie tha e = s e Tatels o7 : el What ber goes [n the empty box al#ove to|make the ber sentenge true%
.Q: 4 at(ls the erence ween the water levels of the twp glasdes shown elow?
® T 7 e i H 10 T] 100 K3 1000
N [Q:: . fmim's helght {s 1.45/m. His sister|Sue's helght fis 0.5 i less than hjs height. What is
’Sue's helght?
gem y BN 150m B L40m 1.9:4 m ¥ 0.95m
53cm
- 4 12.:(Q: : 7.51 +[0.04 =
¥ 3¢m E21Llcm F] 21icm |4 QK] +gm F 7.451 7.514 EX 7.55 8 7.91
Q: |Amit does fof cycling everyday. He cycled 4 3|km on|Friday, 3 1 ki on Saturday, and & 18, [@: 2 5.01 +0.2 + 0.03 =
2_km pn Sunday. [Fraee L
h) ; ap 2 5,24 q] 5.42 5.6
How many km did i*e cycle altogether in these 3 dayis? A = =
7 1
13|15 km EH |13 y; [km 12 (& km EX 12 3 km Iy. Q: . What must bd added to 0.99 to gt 17 .
e 5 i a11
Q@ what b2+ 327 ' B Ko =
2 4
& B = 14 B IS, R ) 8.249-0.5 =
= 5.749 ©.244 6.349 6,749
+|Q ! Inthe following figure, the large sq represents 1. - Er =
6. ! H 5 Revatl nad Rs|675.25 with her. She spent Rs 410.50 t9 buy a BadnTnton racket and Rs
i 35.25 to buy a shuttlecock ¥
\ %Y
b
Rs 430.50 Rs 35.25
(Note: 'Ifhe larger sqllare Is divided into 100 smaller squares.) ow much money waL left »tlth hey?
hat decimal fraction does the shaded part represent? Rs 1141.00 El Rs 465.75 Rs 21D.50 3 R$ 209,50
10 0,11 0.1 ¥ oloio
3 4
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17. R Shown here is a blll that Rayi got. ' 24, Q. 7-ﬂ5 =13
What number goes in the emgty box above to make the number sentence true?
) bl EN|(75 705 EX 750 7050
sad -:x i B0 Mo T2, Bt S h
Pl Pasi | ) g 42. Q__ A tin contpins 6.045 kg of sugar. The empty tin weighs 0.55 kg. What Is the combined
g i | welght of the tin and the sugar?
2| pencis | fesnod [N |5.495 kg 6.1 kg 6.595 k¢ 11,545 kg
2 | Nofebooks s | |es27sg ‘
3| | Gesmmefry Box 1| {Rs 4000 B -
= 23, Qj_j__ A contalner has 70 litres of milk. Of this, 35.500 litres of milk was uJed to Take ice
SN . cream and 15.250 litres was used faor milk shake )
™~
2 b b ':"q 4 E'o
B vl RS 7956
w1 1 §evenly mie and fifly paite|
A ALL s’nnou[nvn\‘m; SHOP
WDLt is the balJnce anL\ount hat Ravi recelvedﬁlr he gave Rs 100 to|the shppkeeper? How much|milk was left in the contalner?
Rs 30.50 Rs 21.50 [Ed Rs 20.50 P Rs 20.00 5.750 rtres B 40.750 litres EX 34.500 litres ¥ 19.250 litres
L, Q:| " Taking the large|square to be 1, whht decimal fraction Is represented by the shaged 24. QA kd of salt costs Rs 18/50. A kg of spigar costs Rg 24.25 more than a|kg of salt.
portion of{the figure below? ; " | How much|does a kg of|sugar kost?
: Rs 5.75 BX Rs 16.75 R§ 32,75 Y Rs 42[75
2.5'¢  Q: | ‘ What must| be adfed to(1.99 tp get 2? ¢
1 ¥l 0.1 EX 0.p1 ¥ o.11
2g. Q.75+ 004k
7.09 ? 7.45 7.p4 K4 7.9
24| Q' 76.4p-2= ; |
76.40 76.22 EX 74.42 3 56.42
(Note: The|large squard is divided into 1oq small\squares.)
ae l & o 28 Q7| Whatis & 427 :
1 2.3 3 i) 23.1G0 —=wilK
i s 3 Py 2 B
Qs R+ 55 = 1 i
| | has to read 5|5 pages of an article. He has fin|shed reading 3 3 pages.
25.324 Ed 25.423 E¥ 25.24 ¥ 28324 imany pages are left to read?
il - - g—l—"’n‘crges
7 PRl rIUW'r‘m!ﬁTh—unare d ths make 47 % pades 2 % pages
T (2 [ H 100 £ 200
3 4




